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COUNTING TO
A MILLION

5050 5005 5500

34,34043,00340,304

Put these numbers in order

Smallest Largest

2225 2252 2525 2255

____ ____ ____ ____

1

1

3

Pre-intervention assessment
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*3 marks: 1 mark for smallest, 1 mark for largest and 1 mark for the other two numbers in order*

Put a circle round the highest number in each box



Put these numbers in order

Smallest Largest

10,100 11,010 10,001 10,101

____ ____ ____ ____

Put a circle around the digit which is worth 30,000

3,332,303

Put a circle around the digit which is worth 400,000

4,445,443

Write the number 53,148 in words 

______________________________________

______________________________________

______________________________________

Write out the number six hundred and three thousand
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*3 marks: 1 mark for smallest, 1 mark for largest and 1 mark for the other two numbers in order*
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Write the number two million, eight hundred and
fifty-two thousand and six
______________________________________

Write the number that is 10,000 more than 60,000
______________________________________

Write the number that is 20 more than 140
______________________________________

Write the number that is 25 more than 175
______________________________________

______________________________________
Write the number that is 100 less than 1,000

Write the number that is 1000 less than 9000
______________________________________

1

1

1

1

1

1



Write the number that is 100,000 less than 800,000

Add these numbers up. Put the answers in the box.

Add these numbers up. Put the answers in the box.

Subtract these numbers*. Put the answers in the box

______________________________________
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10,000 + 5,000 + 75 =

200,000 + 160 + 90,000 =

225 + 30,000 + 6,000 =

Subtract these numbers. Put the answers in the box.

90,000 - 10,000 =

150,000 - 40,000 =

278,000 - 4,000 = 


